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for a process to find the number of banana cakes, eg 420  0.35 oe (= 147)
(dep P1) for a full process to find the number of lemon/chocolate cakes

g 420 — (vanilla cakes) — (banana cakes) (= 153)

(dep on previous P1) for a process to find the number of lemon cakes

g “1537 9 x 4 oc (= 68)

cao

OR

for writing two proportions in the same format

for combining the proportions of vanilla and banana cakes

g 2/7 +7/20 (= 89/140)

(dep P1) for a full process to find the proportion or number of lemon/chocolate cakes

eg 1-"89/140" (=51/140)
(dep on previous P1) for a process to find the number of lemon cakes
g “S1/140” x 420 + 9 x 4 (= 68)

cao
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500g

P1
P1
Al
Bl

1160 (=20)
20" x 25

500 (or 0.5)

Correct units g (or kg)
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Lx3=135 Combination [ PT | jnks cither Z with 90 and 60% with 84
2 with reason 3
% x 100 =140 Pl Pm(;:]:ss to find original price of microwave oven
eg 2% 3 (=135)
P1  Process to find original price of combination
oveneg 25 100 (=140)
Al Correct original prices £135 and £140 with

interpretation of results to conclude that
combination oven had greater normal price.
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()

1.95

M1
M1
Al

Bl

‘method to find one temperature eg 4500 + 1200
for complete method
cao

cao
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12

37.5 mph

Pl
Pl
Pl
c1

shows process of finding first distance eg 50 * 3 (=150)
shows process of finding time for second part eg 150 + 30 (=5 h)

shows process of working with av sp. (dist + time) (= 300+(3+5) = 300:8 )
conclusion with supporting evidence, correct notation and units eg 37.5 mph
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No with
supporting

evidence

Pl

Pl

cl

for the start of a correct process, eg. two of x, 2x and 2x+7 oc or a fully correct
trial, eg. 5+ 10+ 17=32

(dep on P1) for setting up an equation using 3 algebraic terms, eg. x + 2x+ 2x +7 =
57 or a correct trial totalling 57, eg. 10 +20 +27 = 57

for a correct deduction from correct answers,

eg. Chris has 20 so it is impossible for all to have 20 since 60 marbles would be
needed.
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16 MIfor correct interpretation of given information leading to a method to find fd, eg. 20
100 (thousand) or for an acceptable key
Pl fora process to find at least two required frequencies, eg. 0.8 X 50 (= 40),

Al

0.6 X 50 (= 30), 0.14 x 100 (= 14)
for 84 cao
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22

15

BI

M1
Al

for any correct bound clearly identified,

eg 99.65 —x — 99.75

0r66.5— y— 67.5

(dep on B1) for method to find UB, eg. "99.75" + "66.5"
for 1.5
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20

V(2535 + 6)
6.5 x2=549.25
549.25 + 10 =54.925

55

P a process to find the scal factor of 6.5
P1 for a full process to find the amount of clay required
CI for stating 55 bags
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400 Pl Start to process eg. 1200 + 60
Al 400 oe (accept number of whole pizzas eg. 4004 = 100 with 4
people per pizza)
Cl Eg Assumption that sample is representative of population — it may.

not be all 1200 people are going to the party — need less pizza if
they don’t, assume 4 people per pizza ~ if different may need
more/fewer pizzas
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conclusion

(supported)

Pl

P

c1

30+70(=0.428) [26+60(=0.4333...) [30+26(=1.153.
60% 04287 | 707043337 60% “1.153..."

for conclusion linked to 25.7 mins, 30.3 miles or 69.2 mph

)
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Have a water
meter
(from working with
correct figures)

PI
Pl
Pl

Pl
Al

Process o find number of litres eg. 180~ 1000
Full process to find cost per day

Full process to find total cost of water used per year (accept
use of alternative time period for both options)

Full process with consistent units for total cost of water
Correct decision from correct figures (88.13154 or correct
figure for their time period)
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*7

M for finding the area of one rectangle which is not 6 x 10

g 2x2.5 (=5) or 4x10 (=40) or 2.5%6 or 5x2

MI for a complete method to find the total area
eg 5+5+40 or 60-10 (=50)

MI for a complete method to find the number of tins needed
g “507 £ 5+ 2.5 (=4)

OR for a complete method to find the number of litres needed.
eg“50" 5 (=10)

OR for a complete method to find the area covered by 3 tins
g 3x2.5%5 (531.5)

Al for 50 (m’) and 4 (tins needed)
or for 10 (tres) and 7.5 (lres)
o for 50(m’) and 37.5(m’)

C1 (dep M2) for a conclusion supported by their calculations
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4 400+ 18=22(2) 18 pack with 4 | MI for amethod that would result in at least two values that could be used to compare

499 +20 = 24(95) or 25 supporting two packs
600 +26=23(07...) working MI for a complete method that would result in values that could be used to compare
(or equivalent in £) all three packs

18:4=45 Al for all fully correct figures suitable for comparison
20+4.99 = 4(008...) CI ft (dep on M2) for comparison of their values with a correct conclusion from their
26+6=43(333...) figures
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(@)

®)

©

203

68.04

261

M for

oe

Al for answer in range 20.2 t0 20.3

M1 for (m =) 1.8” % 21 oe.
Al for 68.04

M2 for a complete method to find 145% of 1.8, eg. %x 180 0¢

(M1 for a method to find 45% of 1.8, eg. %xmo(:mm

or for a multiplication factor of 1.45)
Al cao
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1

4228

MI for method to find weekly mileage, cg. 18 % 2% 5 (= 180) or weekly car park
charge, cg. 3.50 x 5 (= 17.50)

MI for method to find fuel used in a relevant journey,
eg. "I80"  45.2 (= 3.9823 gallons) or 18 + 45.2 (= 0.39823 gallons)

MI for a correct use of the conversion factor to convert between gallons and litres,
9823"  4.546 (- ... litres) or "0.39823" x 4.546 (= 181 ... litres) or
1369 x 4.546 (= 6.22... £/gallon) or 45.2 + 4.546 (= 9.94... miles/litre)

MI for a method to find the cost of a relevant journey,
"I8.1..." X 1.369 (=24.78 ...) or "L8L..." x 1.369 (<2478 ...)
or "3.9823"

Al for answer in the range 42.26 to 42.3(0)

NB candidates could work in litres or in gallons and/or could work in £ or p





image34.png
*9

NO
with evidence

ML for 50 x 40 x 30 (=60000)
MI for “60000” - 3000 (20)

M1 for 20" x £3.50

Cl eg for 70 and comparison resulting in NO

OR

MI for £60 = 3.50 (=17 bottles)
MI for 17" x 3000 (=51000)
M1 for 50 % 40 x 30 (<60000)
Cl eg for 51000 and 60000 and comparison resulting in NO
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32
64
2

MI for 2yory =3
M1 for adding their three expressions and setting equal to 125
M1 for correct method to solve ay + b = 125

Al Ali 32, Bhavara 64 and Ceris 29
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K 95
80+
5075
2 3 9
AP
sl s
T 7 3
200 [ 30 [
204000 [600 [ 180
511000 [150 |45

7000+ 1000+ 600+ 150 +
180+45= 5975

Kirsty’s Plants with

correct caleulations

MI for complete method with relative place value correet.
Condone I multiplication error, addition not necessary.

MI (dep) for addition of all the appropriate elements of the
calculation or digits 5975

M1 for a complete method to find 120% of £52.50

Al for 59.75 and 63(00)

C1 (dep on M2) for correct conelusion for their figures

OR

M1 for the start of a method o divide £52.50 by 25, eg. 2 rem 2
M1 for a complete method to divide £52.50 by 25, condone one
arithmetic error, or digts 21

M1 for a complete method to find 120% of *£2.10°

Al for2.52

C1 (dep on M2) for correct conelusion for their figures

OR

M1 for a complete method to find 120% of £52.50
M1 for the start of a method o divide ‘63’ by 25, eg. 2 rem 13
M1 for a complete method to divide ‘63" by 25, condone one
arithmetic error, or digits 252

Al for2.52

C1 (dep on M2) for correct conelusion for their figures
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s 155 15=77 Redlands 21 MI for 2x or x-7
X2k x-T St Samuels 42 MI for 1155 = 15 (= 77)
x-7=177 Francis Long 14 MI (dep M2) for equation summing their three expressions to *77"
4x = 84 x = 21 Al for21,42and 14
Cl for fully correct answer with correct labels
OR
OR

15x+ (15 % 2) + 156 7)
= 1155

155

MI for an expression for the cost of the pupils from Redlands
MI for expression for the cost of the pupils from either St Samuels or
Francis Long

MI (dep M2) for equation summing their three expressions to 1155
Al for21, 42, and 14

Cl for fully correct answer with correct labels
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21

3% 180

1620

MI for using a scale factor of 3? (= 9)
Al cao
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2

125

MI100 - 12 (= 88) or 0.88 or I.I = 88 (= 0.0125)
MI for complete method, eg 1.1 + 0.88
Al cao

(SC B2 for 1250 as answer)
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*6

554
X7
3878
11080
14958

Yes with correct
working

MI for a complete method with relative place value correct. Condone
1 multiplication error, addition not necessary.

MI (dep) for addition of all the appropriate elements of the
caleulation.

Al for £149.58 or 42p (spare)

CI ft (dep on M1) for correct decision for their total cost

OR
MI for a complete grid with not more than 1 multiplication error,
addition not necessary

MI (dep) for addition of all the appropriate elements of the
caleulation

Al for £149.58 or 42p (spare)
CI t (dep on M1) for correct decision for their total cost
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OR

500 [ 50 | 4 [x MI for sight of a complete partitioning method, condone |
10 [1000 [80 | 2 multiplication error, addition not necessary.
000 0 MI (dep) for addition of all the appropriate elements of the
3500 [350 |28 [ 7 caleulation.
Al for £149.58 or 42p (spare)
10000 CI t (dep on M1) for correct decision for their total cost
1000
3500 OR
350 50
pod M1 for 150.0...+ 27 at least 5 seen and 15 carried or <~
28 s
14958 M (dep) fo full orrect process o divide 150 by 27 or 5

Al for £5.55 or £5.56 or £5.55.
CI ft (dep on M1) for correct decision for their plant cost

OR
MI for 150.0... 5.54 at least 2 seen and 392 carried

MI (dep) for full correct process to divide 150 by 5.54

Al for 27 (07...)

CI ft (dep on M1) for correct decision for their number of plants
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MI for 0.2 7000 (=1400) or 1.2 x 7000 (=8400) oe
MI for 7000 + "1400" - 3000
MI for "5400" = 6

Al cao
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14

ML for 600 - 4 (=150)
MI for 4500 + *150” (=30)

MI for 750 = *30”

Al for 25 with supporting working

OR
MI for 4500 + 750 (=6) or 750 = 4500 (=

M1 for 600 = 4 (=150) or 600 + “6” (=100) or 600 * "3 (=100)
MI for “150° = 6" or “100” = 4 or 150 x "2"
Al for 25 with supporting working

OR
MI for 4500 + 750 (=6) or 750 + 4500 (=

M forlx
b

MI for" =" x 600
Al for 25 with supporting working





image44.png
(@)

®

360

25

MI130+10(=3) or 120
Al cao

750
300

M for

.5) 0c

Al cao

10 (=12) or 120 + 120 + 120 oe
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N

No + reason

MI for intention to find the circumference
eg 140 7 (=439.82..)

Al for circumference = 439 - 440

MI (dep on MI) for a complete method shown that could arrive at
two figures that are comparable eg “C*+60x12 (=87.96..) , 90+12x60
(=450), 90+60="C” (=12.27), “C+90x12 (=58.64..)

CI (dep on both M marks) for No and explanation that shows a
correct comparison eg only 84 people could sit around the tables or
that 13 tables are needed or that 480 cm is needed.
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4

(@

®

Yes
(supported)

Yes, (does not have
enough)

(supported)

Pl

Pl

Pl

c1

c1

for start of process,
g5 %9 (=45) or 10 x 14 (= 140) or 5 x 2 (= 10 (ke))
or3+2 (= 15 (boxes))

for process using ratio of areas, eg “140” + 45"
or for using ratio of amount of seed eg *10” + 3 (= 3.
or for finding coverage for 1 ke of grass seed, eg 45

1)
3 (=15 (m?)

for process to find amount of seed needed.

cg 140"+ 45" %3 (=93..kg)

or “1407 457 x 15 (boxes)) oe

or “15”x 2 (=30 (m’ per box)) and *140” + *30” (=
o for process to find area that can be seeded,

eg *10” + 3 x “45” (= 150 (m?))

or 140" + *10” (= 14 () 0e

for “Yes” supported by correct figures
€g4.6...(and 5), or 9.3...and 10 or 150 and 140 (or 140 to 148.5)
or 15and 14

for reasoning supported with correct figures, eg does not have enough seed
and compares 9 (kg) with 9.3...(kg) or 4.5 (boxes) with 4.6... (boxes)
or 135 () with 140 () ft from (a)

Accept values rounded or truncated to 1dp in both
(@) and (b).
Ignore units

Accept9.4

Acceptd.]

Values used in (a) do not need repeating in (b) as
long as intention is clear
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25.60

MI for a correct method to find %ond (=8) orgofﬂ (=16)

MI for a correet method o find 60% (= 7.2) or 40% (= 4.8) of 12 or
60% (=14.4) or 40% (= 9.6) of 24

M1 (dep on at least M1) for a method to find the sum of their discounted
adult ticket + 2 x their discounted child ticket

A125.6(0)
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i

186.20

MI for usc of consistent units to find volume, 11 % 4 x 0.06 (=2.64)
or 1100x 400 x 6 (=2640000)

MI (dep on vol calculation) for attempt to find number of bags
needed, eg “2.64” = 0.4 (6.6 >7)

MI for the cost of gravel before discount eg “6.6” x 38 or 7" x 38,
MI for attempt to find the total cost after discount"266” x 0.7 oc.
Al for 186.2(0)

OR

MI for cost of gravel per bag after discount, 38 x 0.7 (=26.60)

MI for use of consistent units to find volume, 11 x 4 x 0.06 (<2.64)
or 1100x 400 x 6 (=2640000)

MI (dep on vol calculation) for attempt to find number of bags
needed, eg “2.64” = 0.4

MI for total cost of gravel after discount “7" x *26.6”

Al for 186.2(0)
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90 3 M1 for 6 +4 (= 1.5) or 4+ 6 (= 0.66..) or 4 x 6 oc or sight of any
450 one of the correct answers.

225 Al for three correct

15 Al for all correct

960





image49.png
20,40, 60
12,24, 36, 48, 60

3ands
or
any multiple
of3,5

M1 attempts multiples of both 20 and 12

(at least 3 of each shown but condone erors if intention s clear) o
identifies 60 or a multiple of 60

MI (dep on M1) for a division by 20 or 12

or counts up ‘multiples” or identifies a common multiple

(implied if one answer is correct or answers reversed)

Al cheese slices (packets) 3, burgers (boxes) 5

or any multiple of 3, 5

OR

MI for expansion of either 20 o 12 into factors

MI for demonstration that both expansions include 4 (or 2 x 2)
Al cao for cheese slices (packets) 3, burgers (boxes) 5

BI for 60 or ft from their correct answer in (i) or ft ‘common
multiple”
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MI for 130 - 96 (=34)

MI for 73 - 55 (=18)

MI for 34"~ 9~ "I8'+ 12
Al cao

OR

MI for 96 - 55 - 12 (=29)
MI for 9 +29' (=38)

MI for 130 - 73 - 38

Al cao
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3

Distance + speed: 30 +
70 (=0.42-043);
Distance + time: 30+
26(=115..);

Speed * time: =70 x 26
(=1820 mins);

mph to miles/min =70+
60 (=1.16-1.17);
Minutes to hours is 26 +
60(=043..)

No with correct
figure

MI for a calculation which uses the Time * Speed = Distance relationship OR a
conversion of units eg between hours & minutes or between mph & miles per min
MI for a calculation involving both of the above

CI for “no” with a correct calculation, with units, from working: 25.2-25.8 minutes,
30.1-30.8 miles, 69-69.3 mph

NB: 70 + 26 % 30 as a single stage calculation gets 0 marks
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3

Mi for 134

Al cao

5x120 or 15.0%8... 0c
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Q15

No+
explanation

MI for 500 9 % 107 e

Al fords

CI (dep M1) for correct decision based on comparison
of their paper height with 4

OR

MI for 4+ 500 oe
Al for 0.008

CI (dep M1) for correct decision based on comparison
of their paper thickness with 0.009

OR

MI ford = (9 x 10™) o

Al for 444(4..)

CI (dep M1) for correct decision based on comparison
of their number of sheets of paper with 500
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2

Not enough
‘mincemeat since
600<700

OR

Only able to make 38
‘mince pies since
insufficient mincemeat

MI for 45 = 18 (=25)
MI for 2.5 used as factor or divisor

Al for ingredients as 562.5 and 875 and 250 and 700 and 2.5
(accept 2 or 3) OR for availables as 400, 400, 200 240, 2.4
(accept 2 or 3)

C1 it (dep on at least M1) for identifying and stating which
ingredient is insufficient for the recipe (with some supportive
evidence)

OR

MI for a correct method to determine the number of pies one
ingredient could produce

MI for a correct method to determine the number of pies all
ingredient could produce

AT for 80 and 51 and 90 and 38 and 108

C1 i (dep on at least M1) for identifying and stating which
ingredient is insufficient for the recipe. (with some
supportive evidence)
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10752

ML for splitting the pentagon (or show the recognition of the’
“absent” triangle) and using a correct method to find the area of
one shape

MI for a complete and correct method to find the total area

MI (dep on at least one prev M1) for multiplying their total area
by 2.56 (where total area is a calculation involving at least two
areas)

Al cao
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®)

Pl

Pl
Al

Pl

Al

for starting process o caleulate amount of flour
g 60+ 15 (=4) or 3 x 50 (= 150)
60
for complete process eg 7= *150”
cao
for process to calculate amount of butter

60
e 32750 (=400)

OR for process to calculate the number of packs of butter needed

eg [butter] = 250

cao

4 implied by 200g of sugar

[butter] must be clearly stated or calculated, may
be seen in part (a)

2 must not come from incorrect working
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21

a8 ord9

MI for

60
945

Al for 48 or 49

460+320+165

x100 (=48.67

460
)or — or
95
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2

No + comparison

MI for a correct start to the process
25 475 20 475

CB TON g5 Oy O g

MI for completion of a fully correct method that will lead to an appropriate

‘comparison

CI (dep on M2) for a correct statement with conclusion with 500 g

or 25¢ more needed

or 19 cakes.

or 25g and 23.75g

SC If no working then B1 for a correct statement with correct figures and
units
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41496

M1 for a correct method to work out the amount of oil required to fill the tank
MI for a correct method to find the cost of ol required before the discount
MI for a correct method of finding 5% of their calculated cost

MI (dep on previous M1) for a correct method to find the discounted cost

Al for correct answer of 414.96 or 41496p

OR

MI for a correct method of finding 5% of the cost of 1 litre of oil
MI (dep on previous M1) for a correct method to find the discounted cost of |
litre of oil

MI for a correct method to work out the amount of oil required to fil the tank
MI for a correct method to find the discounted cost of the oil required

Al for correct answer of 414.96 or 41496p

OR

MI for a correct method to work out the amount of oil required to fil the tank
MI for a correct method of finding 5% of their calculated amount of oil

MI (dep on previous M1) for a correct method to find the reduced amount of oil
MI for a correct method to find the cost of the reduced amount of oil

Al for correct answer of 414.96 or 41496p
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3

&8
Ml fora e x 50 0¢
Al for 11 (accept 12)
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180x1.5
40415
110515
30415

ML

for x24+16 oc or 24/16 or 1.5 scen or 180 + 90 (=270) or 40

420 (=60) or 110+ 55 (=165) or 30 + 15 (=45) or sight of any one.
of the correct answers
A2 for all 4 correct answers.

(Al

for 2 or 3 correct answers)
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3%

M

for 7155 — 7095 or 60 seen or 7155<15 (or .15) or 7095x15

(or .15) or 107325 or 106425 or 1073.25 or 1064.25

M1
Al
cl

for *60° x15 or 7155 x15 7095 x 15 [or .15 instead of 15]
for 9 or 9.00 or 900
(ft) for answer with correct units (money notation) identified

as the answer.
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212418
2

13520 =675 (=7
bags)

75499

OR

1
18%9-=(6x9)
3 ):135
135+20=675 (=7
bags)
7x4.99

3493

Ml fnr%x(llfls)0r18x97%(6x9)

M9X|Z+%x(|8712)x9 or 135 seen

M1 (dep) for 135+ 20 or 6 or 7 seen
M1 (dep on previous M1) for *6" x 4.99 or 7" x 499
Al cao

[SC: MI for (12%9 + 6x9) + 20 (= 162+20) or 8 or 9 seen
MI (dep) for ‘8" x 4.99 or 9" x 4.99

OR MI for (18x9 - 6x9) 20 (= 108-20) or 5 or 6 seen
MI (dep) for °S” x 4.9 or *6’ x 4.99]
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18

BI for 60 seen
MI for (360 - 60) = 2 (=150)

MI for 360 = (180 — 150) or 150+n=180(n-2) oe
Al cao

OR
BI
M1

ML for 360 = (60-2)
Al cao

OR
M2 for 30 seen
M1 for 360 = 30
Al cao
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"3

3x£193.86 = £581.58
£581.58 0.85=£494.343

£49434

M1 81.58)
Bl ft correct discount % identified or used in working

(may be identified in table)
MISRLSE™x 0.15' (<87.23(7))
M1 (dep on the previous M1) ‘581.58 ~'87.23(7)

(=494.34(3) or 494.35)
€1 (dep on all method marks) for £494.34 or £494 35 identified
as final answer with correct money notation

OR

MI 3 x 19386 (= 581.58)
Bl ft correct discount % identified or used in working

(may be identified in table)
M2 SRLSEx 085" (=494.34(3)
(M1 'SBLSE 115’ (=668.81(7))
C1_ (dep on all method marks) for £494.34 or £494 35 identified
as final answer with correct money notation

NB. Throughout, values may be rounded or truncated to 2
decimal places
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17.8+ 160 x 211
OR
210+ 160 x 17.8= 13125 % 178 =233625 ¢

11125 %210=233625 ¢

OR

210 - 160 (=50)
178, 50155625
160

178455625

233(625)

MI_ 178 <160 (=0.11125) or 17.8 x 210
or 210+ 160 (=1.3125)

M1 (dep) ‘0.11125° x 210 or ‘3738°+160
or13125% 178

Al for answer in range 23.3 - 234

OR
M for LR (210 160) (=5 5625)
160

MI (dep) for 17.8 +'5.5625'
Al for answer in range 233 - 23.4

OR

MI for correct method to find weight of 2 cm or
Scmor 10cm

MI (dep) for complete method

Al for answer in range 23.3 - 23.4
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Pl

Pl

Pl

Al

for working with volume of the cuboid, cg 30 x 6 x 19 (= 3420)
OR for using 3 with one dimension, eg. 30 * 2+ 3 (=20)

for “3420" x 2 +
OR*20x 6% 19
OR*3420" =275

2280) or “3420” +

1140)

24... = 12 cups)

(dep on P2) for “2280” + 275 (= §(29...)) or “1140” = 275 (= 4(.14..))
OR*I127x2+3
OR for 275 % § (= 2200) or 275 * 9

475)

cao

For P marks, ignore attempts at unit conversion
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360+ 60= Yes and 30 3| MI for dividing side of patio by side of paving slab
300+60=5 360 + 60 or 300+ 60 or 3.6~ 0.6 0r 3+ 0.6 or
6x5= 6and 5 seen (may be on a diagram) or 6 divisions seen on length of diagram or 5

divisions seen on width of diagram

MI for correct method to find number of paving slabs

cg. (360  60) * (300 + 60) oc or 6 * 5 or 30 squarcs scen on diagram
(units may not be consistent)

Al for Yes and 30 (or 2 extra) with correct calculations

OR

MI for correct method to find area of patio or paving slab

e 360 * 300 or 108000 seen or 60 * 60 or 3600 seen or 3.6 % 3 or 10.8 seen or
0.6% 0.6 0r 036 seen

MI for dividing area of patio by area of a paving slab eg. (3.6 x 3) = (0.6 x 0.6) o
(units may not be consistent)

Al for Yes and 30 (or 2 extra) with correct calculations

OR

MI for method to find area of patio or area of 32 slabs

g 60 % 60 % 32 or 360 * 300

MI for method to find both area of patio and area of 32 slabs
g 60 % 60 x 32 and 360 * 300

(units may not be consistent)

Al for Yes and 115200 and 108000 OR

Yes and 11.52 and 10.8

NB : Throughout the question, candidates could be working in metres or
centimetres
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®) | 1726
25890
27616
8 6 3
2 1%
LR A
6 1 6

800 60 |3
30| 24000 | 1800 [ 90
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24000+1800+90+1600+120+6 =
27616

276.16

MI for complete correct method with relative place value correct.
Condone I multiplication error, addition not necessary.

OR
MI for a complete grid. Condone 1 multiplication error, addition not
necessary.

OR
MI for sight of a complete partitioning method, condone 1
‘multiplication error. Final addition not necessary.

Al for digits 27616
Al ft (dep on M1) for correct placement of decimal point after
addition (of appropriate values)

(SC: BI for attempting to add 32 lots of 8.63)
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0 5 0 15 20 25 30

e [0 [0 (30 [0 [0 [50

ka0 [0 [0 [as [w [ 55

w10 20 [0 [0 [50 [0

10

Ed is cheaper
upt020
miles, Bill is
cheaper for
‘more than 20
miles

BI cao

MI for correct line for Ed intersecting at (20,30) +1 sq tolerance or
10+x=1.5x0e

€2 (dep on M1) for a correct full statement ft from graph

eg. Ed cheaper up to 20 miles and Bill cheaper for more than 20 miles
(C1 (dep on M1) for a correct conclusion ft from graph

g cheaper at 10 miles with Ed ; eg. cheaper at 50 miles with Bill

eg. same cost at 20 miles; eg for £5 go further with Bill OR

A general statement covering short and long distances eg. Ed is
‘cheaper for shorter distances and Bill is cheaper for long distances)

OR
MI for correct method to work out Ed's delivery cost for at least 2
values of n miles where 0 <1 <50 OR

for correct method to work out Ed and Bill's delivery cost for n miles
where 0 < < 50

C2 (dep on M1) for 20 miles linked with £30 for Ed and Bill with
correct full statement

eg. Ed cheaper up to 20 miles and Bill cheaper for more than 20 miles
(C1 (dep on M1) for a correct conclusion

g cheaper at 10 miles with Ed; eg. cheaper at 50 miles with Bi
eg. same cost at 20 miles; eg for £5 go further with Bill OR

A general statement covering short and long distances eg_ Ed is
cheaper for shorter distances and Bill is cheaper for long distances)

SC: Bl for correct full statement seen with no working
ez Ed cheaper up to 20 miles and Bill cheaper for more than 20 miles

QWC: Decision and justification should be clear with working clearly
presented and attributable
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1000+ 200 x 12

30

MI for 25+ 10 or 2.5 seen or 10+ 25 or 0.4 seen or
12+12+ 6 0eor

a complete method eg. 25 * 12+ 10 0e

Al cao

MI for 500+50 or 1000200 or 500-10 OR
correct scale factor clearly linked with one ingredient eg. 10 with
sugar or § with butter or flour or 50 with milk OR

answer of 120 or 600

Al cao
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6% 10 < 8= 480
480+ (6% 20)=

MI for 6 x 10 x 8 or 480 seen
MI (dep) for 480" = (6 * 20) oe

Alcao
OR
1 8 20
MI for 20 = 10 (=2) or 10+ 20 (== ) or —— ocor — oe
27720 B
18
MI (dep) for 8+'2'0r 8 x — or — x 10 0c or
20
10-2
B
Al cao
SC: B2 for answer of 16 coming from 2 S%0 o

10x6
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(17-28) < 9.5=1349 5 5 MI for (17-2.8) 9.5 (=134.9)
7 (38527 =1134.. or 1759.5 - 2.849.5 (= 161.5 - 26.6 = 134.9)
1349 -2 % 1134, 1221 MI forxx (3.8 +2)° (= 1133 - 11.35)
11221+25=4.488 MI (dep on MI) for *134.9° 2 x *11.34°

Al for 112-113

C1(dep on at least M1) for 'He needs S boxes' ft from
candidate’s caleulation rounded up to the next integer
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Farm shop

MI for 125 2.5 (=5)

MI for *§'x183 or °S” x 183

Al for (£)9.15 or 915(p)

C1 (dep on at least M1) for decision ft working shown

MI for 9 = °5” or 900 = °5*
Al for (£)1.8(0) or 180(p)
C1 (dep on at least M1) for decision ft working shown

OR
MI for 9 = 12,5 (<0.72) or 1.83 = 2.5 (0.732)

MI for 9 = 12,5 (<0.72) and 1.83 = 2.5 (<0.732)

Al for 72(p) and 73.(2)(p) or (£)0.72 and (£)0.73(2)
CI (dep on at least M1) for decision ft working shown

OR
MI for 125+ 9 (= 1.388..)

MI for 2.5+ 183 (= 1366..)

Al for 1.38....and 136... truncated or rounded

C1 (dep on at least M1) for decision ft working shown
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*1s

180 x 365 =65700

65700 #1000
65.7% 9122 =5993.154
5993154100 + 2820 =88.13...

7

U

366

65880

6010

8830

365

65700

5993

8813

65000

5929

8749

66000

6020

88.40

364

65520

5976

8796

360

64300

5911

8731

5517

8337

Decision ( Should have a
‘water meter installed)

Per year
Ml for 180 x ‘365" (= 65700)

MI for *65700° = 1000 (= 65.7 or 65 or 66)

MI for *65.7° * 91.22 (= 5993...)

Al for answer in range (£)87 to (£)89

CI (dep on at least M1) for conclusion following from
‘working seen

OR (per day)
MI for 107+ 365" (=0293...)

MI for 180 = 1000 x 91.22 (= 16.4196)

MI for 282+ *365" + “0.164196" (units must be
consistent)

Al for 29— 30(p) and 24 - 24.3(p) oe

CI (dep on at least M1) for conclusion following from
‘working seen

OR
MI for (107~ 2820) + 0.9122 (= 86.384.)

MI for ‘86.384. 1000 (= 86384.5...)

MI for 365" 180 (= 65700)

Al for 65700 and 86384.5...

CI (dep on at least M1) for conclusion following from
‘working seen

NB : Allow 365 or 366 or 527 (=364) or 12 x 30
(=360) or 365% for number of days
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Explanation : Each member of
the population has an equal
chance of selection

Description : Eg. number each
student and use random select
ona calculator

239+4257+248+190+206=1140
239

Each member of the
‘population has an equal
chance of selection

Valid method

21

BI for explanation

BI for an acceptable description
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@ | 237 18 42,66 MI for a complete method with relative place value correct.
W8 231 Condone 1 multiplication error, addition not necessary.
189 126 MI (dep) for addition of all the appropriate elements of the
B0 540 calculation
1266 3600 Alfora266(p)  OR
4266 oR
MI for a complete grid with not more than 1 multiplication
2 3 7 error, addition not necessary.
T To MI (dep) for addition of all the appropriate elements of the
2 3 7|1 calculation
o, Al for 42.66(p) oR
() 4”6 MI for sight of a complete partitioning method, condone 1
4 2 6 6 ‘multiplication error, addition not necessary.
MI (dep) for addition of the all the appropriate elements of
OR the calculation
200 30 7 Al o oR
2000 [300 [70_[10
1600 [240 56 |8 M2 for repeated addition, exactly 18 seen
3600 540 126 18 Al for 42.66(p)
(©) | 10%ol85 = 8510 £7650

85-85
or

90% of 85 = (85+10)x9

M1 for % 85 0r 85 <10 (=8.5) e
100

MI (dep) for 85 - ‘8.5
AL£7650(p) or £76.5(p) ~ OR

M2 for -2 85 or (85-10)<9 0e
100
Al £76.50(p) or £76.5(p).
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(supported)

Pl

Pl

Pl

Pl

c1

caleulates arca of trapezium cg %% * 7 x (10+16) (=91)

for division by coverage eg +2 or | for process to find number of tins

[area of trapezium] = 2 (= 45.5) ‘bought eg 160 =+ 16.99 =
or process to find coverage per tin

ez5x2(=10)

tins

for division to find the number of | for using whole no. of tins to find

tins eg 5 or “45.57 = 5 (=9.1) or | total litres eg 9 x 5 (= 45)
[area of trapezium] + *10” (=9.1)

(dep on at least P2) fora process | (dep on at least P2) for a process
to multiply a whole number of tins | to find the total coverage
(rounded up) by 16.99 g 45" x 2 (= 90)

for *No” supported by correct figures eg 169.9 or 90 and 91

[area of trapezium] needs to be clearly stated if
the process of finding the area is not clear

‘There must be a conclusion (“No or equivalent
‘wording) including the figure 169.9 and working
showing processes followed.
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3x65=195
195x 20 =
100

195+39=

39

234

MI for 3 x 65 (= 195)
2

MI for “1957 x = oe or 39
100

MI (dep M2) for adding”195” and “39”
Al cao

OR
M1 for 65 % 2% o or 13
100

MI (dep M1) for adding 65 and 13"
MI (indep) for (65 +“13") x 3
Al cao

OR
M2 for 78 seen
MI for 78 x 3
Al cao

(SC B3 for 208 as answer from 195 + 13
SC B2 for 312 as answer or 195+ 13
SCBI for 52 from 20% of 260)
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5+10

80%15
60 %15
30515
36515

120,90, 45, 54

M2 for any one of 80 +40 or 60 + 30 or 30 + 15 or 36 + 18
or 120 or 90 or 45 or 54 seen

Al cao

OR

MI for 15 = 10 or 3 = 2 or sight of 1.5
MI(dep) for 80 15" or 60 x '1.5' or 30 x "
36 L5

Al cao

OR

MI for 80 = 10 or 60 = 10 0r 30 < 10 0r 36 = 10 or § or 6
or3or36

MI(dep) for '8’ 15 or 6’ 15 or'3' < 15 or 3.6 x 15
Al cao

OR

MI for 80 + 2 or 60 + 2 or 30 + 2 or 36 + 2 or 40 or 30 or
I50r18

MI (dep) for 40" x 3 0r'30' x 3 or'15' x 3or'18' x 3
Al cao

Sor
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36030

12

MI for 360 = 30
Al cao
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(100% — 10%)>Normal Price=£4.86.
Normal Price = £4.86 + 0.9

Mlfor *4.86 is 90%"
or (100% — 10%) x Normal Price
=90

MI for 4.86 0.9 or 486 x 10 =9 0e
AL £5.40 (accept 5.4)

OR

M1 10% = £0.54 or £4.86+9
MI (dep) £4.86 +°£0.54"
Al £5.40 (accept 5.4)

86 0r4.86
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22

700 + (750 + 700 + 900) x 50
=700+ 2350 x 50
= 148936

15

MI for 700 = (750 + 700 + 900) x 50 or
148, or 149 seen
Al cao
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175
x37
1225
5250
6475

100 [ 70 5

3000 | 2100 | 150 | 30

700 | 49 | 35 7

3000 +2100 +150 + 700 + 490
+35= 6475

64.75

M for a complete method with relative
place value correct, condone 1
multiplication error, addition not
necessary

M1(dep) intent to add

Al cao

or

M1 for a completed grid with not more
than 1 multiplication error, addition not
necessary

M1(dep) intent to add

Al cao

or

M1 for sight of any complete partitioning
method, condone 1 multiplication error,
final addition not necessary

M1(dep) intent to add

A cao

NB : In all methods ignore placement of
decimal point until final answer.
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11

600 + 300 + 150
6000 + 1050
7050 - 3000
4050 = 10

M for 600 + 300 + 150 oe or 6000x0.175 oe
(NB must be VAT of 6000)

M1 for 6000 + “1050”

A1 for 7050 cao

M1 for “7050” - 3000

M1 for dividing by 10

A1 for 405 cao
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25

180

1000

M1 for

Al cao

x50 0e
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(b)

3x100

2:%x6

300

24

M1 for 3x 100 or 100+ 6 x 18 oe
Al cao

Mifor 2:%x6 oe
Al cao
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18

19.5 x 1000 + 210
= 19500 + 210 = 92.8(5714...)
or 92x210=19320=19.321
93x 210 =19530 = 19.53 1

19500 = 93 = 200.67

Explanation

M1 for converting between ml and [
correctly or for 0.21 or 19500 seen

M1 for “19500” : “210” or 92 x “210” or
93 “210” or “19500” + 92

A1 for a worded explanation with correct
calculations
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Pl

Pl

Pl

Pl

Al

process to start the problem
egxy=45and xz= 15 and yz =27

or 5 % 9/(=45) and 3 x 9 (=27) and 3 x 5 (=15)
or 3, 5and 9 stated

for 3% 5% 9 (=135)
or 20497+ 2.5 (=3.6) or *5” £ 2.5 (=2) or *3” + 2.5 (=1.2)

for 2.5° (=15.625)
or all of 9"+ 2.5 (=3.6) and 5" + 2.5 (=2) and *3" + 2.5 (=1.2)

for a complete process to find the number of cubes possible
eg [volume] + “15.625” (=8.64)
or 367 % 27 x 412" (=8.64)

cao

Maybe scen on diagram

[Volume] must come from multiplying together
‘what they clearly indicate as the 3 dimensions of
the cuboid. The three dimensions cannot be 45,
27and 15
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120x1.5
8x1.5

420x1.5
180x 1.5

180
12
630
270

M1 for x6+4 or % or +4x6 oe (120+60) or 1.5 seen or

sight of any one of the four correct answers
A1 for 2 or more correct answers
A1 for 4 correct answers
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10

360+ 12360
100

43

3 175
M1 for J5x3600e or 10%+ 5%+ 2.5% oe

(condone 1 calculation error) ~ or 63 seen
or 36, 18and 9 seen

MI (dep) _for 360 + 63"

Al ford23

OR

M2 for 1175x 360 oe
Al for 423
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21

132.88 = 88 x 100

151

3 | Ml forrecognising that 8% is equivalent to 132.88
M1 for 13288+ 88x 100 oe
Al cao
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24

85+382x 50

2 | MI for85+382x50 oe
Al cao

or

TLI(

) seen
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10

142.2[0] with correct working

M1 for 362 or 1296
M1 for k xr x 182 0e.
where k=%, 1,1%o0r3

AND

M1 for their area x 30

M1 for their mass + 1000 and + 10 or
counting up in 10 000s to their mass

AND

M1 for their 9 x 15.8

110, 1 or 2 scored instead award SC3 for
answer of 142.2(0] with insufficient
working

If 0 or 1 scored instead award SC2 for
282210 2823.02

If 0 scored award SC1 for 1526 to
1527.02, 1017 to 1018.008, 508 to
509.004, 3051 to 3054.024, 1621, 324™,
4861 rot to at least nearest integer

Correct working requires M1 AND.
M1 AND M1

M2 implied by 2822 to 2823.02
or M1 implied by 1526 to 1527.02,
1017 to 1018.008, 508 to 509.004,
3051 to 3054.024, 162m, 3241,
4861 rot to at least nearest integer

their area cannot be 36 and M1
implied by 84660 to 84 690.6 or
846610 84.7

their mass is attempt at (rectangle
and circle(s)) x 30, M1 implied by
84610847

their 9 dep. on fourth M1 scored
with a rounding up to next integer
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B2 for 4, 400, 0.5 and 200

or

B1 for at least two of 4, 400, 0.5 and
200

For full marks, at least one of these
intermediate steps leading to 64
must be seen

VI6 or 4* or V4096
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(b)

38710389

B2for46.11046.110r 17.89 0 17.9

or
B1 for 12.8 to 12.9 or 3.57 to 3.6[0] or
2125102126

and

M1 for (64 — their 46.1 to 46.11) = their
46110 46.11 [x 100] oe

Accept 39 with correct working
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10[a] [4+17+8=23seen Accept written as a sum in a column
OEES B2 Tor consistent algebraic terms for at | e.g. 7, (1% 7). (1% 6]
First column: leastfirst two columns of the grid and(n+1), (n+8),(n+5)

n+(n+7)+(n+6)=3n+13

Second column:
(n+1)+(n+8)+(n+5)=3n+ 14

(3n+14)-(3n+13)=1

or
B1 for at least 3 algebraic terms for
consecutive numbers seen

AND

M1 for algebraic sum of first or second
column shown

M1 for algebraic sum of firstand
second columns shown and correctly
simplified

A1 for sum of second column — sum of
first column = 1 calculated or explained
from correct working

or

M1 for difference of one pair of
algebraic terms fromfirst and second
column shown

M1 for differences of two further pairs
of algebraic terms from first and
second column, with all three pairs
correctly simplified

A for each difference found as +1 or
-1 0 and summed/explained to a
difference of +1. Correct algebra and
reasoning throughout

0 scored, allowSCH fora correct
numerical or descriptive example using
either method and stating an overall
difference of 1

eg.n,(n+1),(n+2)

e.g.n+ (n+7)+(n+6)orin column

eg.n+(n+7)+(n+6)=3n+13

A fore.g.3n+ 14 and 3n + 13and
*second column s 1 more than the
first’ but

AO for e.g. 30+ 14 and 3n + 13and
“difference of 1*

orfor (3n+14)-3n+13=1

e.q. “the difference between n + 1
andnis 1*
e.g.“n+ 1is 1 more than n”

Condone poor use of brackets for
both M marks
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@ M2 for 237120 1 100 00 ECIFFECINP
720° 120
OrM1fur%o¢urhr1587LZDoo For M1 acoept 163~ 1200e 648
- M1 implied by 1.4 or 140
®) M2 or 360+ 08 08
or B for 0.8[0] oe seen For B1 0.8 oe seen allow fraction but not

or for 360 associated with 80% isw

just for 80%
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5400 or 5401 or 5402 final answer 2 | M1 forfigs 35 + figs 648, soi by figs 540[1...]

or

for 0.000 064 8 seen

“Any reference to average/inexact T Condone any mention of
‘weight oe (in packet weight or weight «average for variation and/or
of agrain] o size for weight
or Meark the best part if no
recognising that the number of grains contradiction or wrong statement
of salt must be integer o See appendix





